
ASSEMBLY INSTRUCTIONS

STEP 1

D

F

1.1 Fasten center support leg (F) to center rail (D)

attach by screwing the protruding nut into the

corresponding holes.

STEP 2

MODEL : AVIAN QUEEN BED

PARTS LIST

ITEM DESCRIPTION

QTY

A

 HEADBOARD 1 PC

B

 FOOTBOARD 1 PC

C

 SIDE RAIL 2 PCS

D

 CENTER RAIL 1 PC

E

 BED LEG 4 PCS

F
 CENTER SUPPORT LEG 3 PCS

G

 HEADBOARD WING (L&R)

2 PCS

H

 SLAT 1 Set

HARDWARE LIST

ITEM DESCRIPTION

QTY

1
 JCBC BOLT M6 x 50mm

6 PCS

2  JCBB BOLT M8 x 40mm

8 PCS

3  M6 FLAT WASHER

6 PCS

4
 WOOD SCREW M4 x 38mm

9 PCS

5
 WOOD SCREW M4 x 45mm

8 PCS

6

 M4 ALLEN KEY (BALL SHAPE)
1 PC

7

 M5 ALLEN KEY (BALL SHAPE)
1 PC

8
 WOOD DOWEL M8 x 30mm

4 PCS

READ THESE INSTRUCTIONS CAREFULLY.

REFER TO 'HARDWARE' AND 'PARTS' LIST FOR ASSEMBLY GUIDANCE.

CHECK TO ENSURE ALL 'PARTS' AND 'HARDWARE' QUANTITIES, AS NOTED ARE ENCLOSED PRIOR TO

COMMENCEMENT OF ASSEMBLY.

PLACE ALL TIMBER FURNITURE PARTS ON A CLEAN, FLAT SOFT SURFACE TO PREVENT ANY SCRATCHES ETC.

FOLLOW THE BELOW 'LINE DRAWINGS' TO ASSEMBLE PRODUCT.

CAUTION : 1.DO NOT FULLY TIGHTEN BOLTS / NUTS UNTIL PRODUCT IS FULLY ASSEMBLED.

                   2.DO NOT OVER TIGHTEN BOLTS / NUTS AS THIS CAN CAUSE DAMAGE TO THREADS.

                   3.KEEP ALL HARDWARE OUT OF REACH OF CHILDREN.

                NOTE : THE QUANTITY OF BOTH 'PARTS' AND 'HARDWARE' RELATE TO 1 UNIT ONLY .

TOOL NEEDED : SCREWDRIVER "NOT PROVIDED".

x 4

STEP 3

3.1 Loosely fit JCBB Bolts M8 x 40mm  (2)

into headboard (A) and footboard (B) .

6

1

3

G

8

STEP 4

4.1 Fit wood dowels (8) into headboard wing (G).

4.2 Assemble headboard wing (G) to headboard (A)

using the JCBC Bolts M6 x 50mm  (1) and

M6 flat washer (3).

x 2

A

B

E

5

A

B

2

2

1 of 2

2.1 Assemble bed leg ( E ) wood screw M4 x 45mm (5) x 2pcs

on each leg using screwdriver by follow marking line on the

bottom of headboard (A) and footboard (B).

NOTE:   Only 2 screws required for each leg as shown below.

             Follow outline of leg as printed on both Head and Footboards.



ASSEMBLY INSTRUCTIONS

STEP 5

5.1 Attach the side rails (C) to the headboard (A)

& footboard (B) , and tighting the JCBB bolt M8 x

40mm (2) using M5 allen key (7).

STEP 6

x 2

x 4

6.1 Locate center rail (D) into the corresponding

brackets inside of headboard (A) and footboard (B).

STEP 7

x 9

7.1 Assemble slat (H) into bed frame in between side

rail (C) and center rail (D) screw it using

wood  screw M4 x 38mm (4).

STEP 8

* When moving the bed position, the center support legs

   must be adjust to be straight to avoid any broken problem.

A

C

7

2

D

A

4

H

H

2 of 2


	AVIAN QUEEN BED A.pdf
	AVIAN QUEEN BED B.pdf

